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9986 candidates sat the Business, ACCS:‘ ing 2 703 chose the Business Management Module, Appmxlmatels Shog
the Accounting Module and the remal s
of candidates sat the English papers.
Paper 1
Section A
is secti ark was 36 out of 60 marks
i i tions in this section. The mean m '
There were 30 multiple-choice ques
The percentage correct was lower in the following questions:
9

6 Which of the following descriptions of a SMART goal are correct?

m It should be quantified. —

There should be an expected completion time.

8; The methods of achieving the goal should be stated clearly.

A. (1) and (2) only* (32%)

B. (1) and (3) only ¥,

C. (2) and (3) only @

D. (1), (2) and (3) 2
Many candidates thought that a SMART goal should state clearly the methods of achieving it.
1. There are different departments in a company. One of the goals of the company is to improve t, ¢ Service

quality of its salespersons. For this reason, the human resources manager of the Company assigneg ey

subordinate, Tim, to design training programmes for. the salesper§ons. Tim rep
resources manager only. Which of the following principles of effective manageme
this scenario?

0)) Unity of direction
) Unity of command
3) Division of work

A (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)*

Many candidates failed to study the case thoroughly and missed some im
principles of ‘unity of direction’ (the human resources manager works towar
the service quality of its salespersons) and ‘division of work’

Orts 1o the hymgy
0t are illustrateq i

(38%)

(T%)
(30%)
(25%)

portant information related to the
ds the company goal of improving

(there are different departments / there is a human
resources department).
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The following balances as at 31 December 2019 were extracted from the accounts of a firm;

$

Inventory 17 500

Bank 27000

Trade payables 30 800

Trade receivables 16 400

Short term loan to employees 8 000
What is the liquid ratio of the firm?
A 1.12:1 (42%)
B. 157:1 (19%)
C. 1.67:1* (34%)
D. 2241 (5%)

Many candidates treated ‘short term loan to employees’ as a current liability instead of a current asset and therefore
gave answer A.

28. Which of the following descriptions of the Main Board and GEM (previously known as Growth

Enterprise Market) are correct?

(1) More companies are listed on the Main Board than on GEM.

) ‘Management continuity for at least the three preceding financial years’ is one of the basic
listing requirements for applicants to list on the Main Board.

3) The Main Board was set up for large and established companies.

A. (1) and (2) only (8%)

B. (1) and (3) only (18%)

C. (2) and (3) only (55%)

D. (1), 2) and (3)* (19%)

Many candidates did not know that the Main Board has more companies listed on it.



Section B

Number

Partl
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Satisfactory. Many candidates cited the contributions of sm'an and mediym .
some just gave the contributions of businegg : n.e,'Prises t
Mitis iy ge: the

Hong Kong econorny. However, . :
such as increasing tax revenue and enhancing Gross Domestic Product,
),

Good. Many candidates identified the principle of ‘Management by Objectives’
mentioned ‘unity of direction’, and some mixed up principles of effective m'an eve’.so
management functions such as ‘planning’. Agemeny w"]:;

¢ advantages of adopting Management by Objective b
S,

Fair. Many candidates stated th
¢ candidates mentioned adVantages’ ;t Mog; i

Which
Were

them failed to give appropriate explanations. Som
irrelevant to the case scenario.

Satisfactory. Most candidates were able to explain how the bank can use the finap;
of Chan’s firm to decide whether to approve the loan. However, some gay, C1al stage entg
considered when approving loans, such as repayment history, which are not ShOWnej nf;l}c;tors {0 be
e ﬁnanc.
la]

statement.

Satisfactory. Many candidates stated the ‘consistency’ principal and explained wp,
firm s.hould change the valuation method of its non-current assets. However, 80: ether Chyp:
were incomplete and some gave wrong accounting principle, e.g. ‘historical ’°°st’ © eXplanatiqy

Poor. The nature and meaning of bank overdraft were not clearly explained. §
wrongly answered that a bank overdraft means the bank account has a credit l;al;l::: Candidateg

Fair. Many candidates stated the advantages of using a credit card but fai
A ut
with personal loans, as mentioned in the case. failed to make Comparisong

Poor. Some candidates listed David’s financial n i

eeds, such as saving for marri ;
ﬁowever, many stated financial needs related to other stages of %he “feama%e md'mmng'
irrelevant to the case scenario, €.g. saving for retirement. e Ml




part2

Qj&ﬁiw ul D
Number Popularity Performance in General
L —
A @ 26% Fair. Many candidates identi i
: ified the social and physical factors. H
. ¢ . However, most
failed to explain how the factors might affect Warmer’s business.
® OO Sati i
Suictoy Meny cndites e b s o P
> e date an tai i
gy S or details columns were found in
(ii) G(:;d: Many candidates prepared the trial balance correctly. However, some
;gzo’lmproper headings, such as ‘A trial balance for the year ended 31 Mar
5(A) @ 74% Very good. Most candidates identified ‘Joint venture’ as the form of ownership
of the new business.

() Fair. Though many candidates explained an advantage, many others gave wrong
or irrelevant answers, such as creating new products or easier entry into new
markets.

etween a partership

dicate the difference b

stakenly wrote that partnership is smaller

© Poor. Many candidates failed to in
and a joint venture, while others mi

in scale or has a different tax rate.

®B) @ Very good. Most candidates prepared the income statement correctly. However,
some failed to give the subheadings ‘Less: Cost of goods sold’ and ‘Less:
n used +* and ‘-’ signs instead of ‘Add’ and ‘Less’.

Expenses’. Some eve!

General comments and suggestions

cepts but were weak in applying these to the case

ness knowledge and con
the content of textbooks or the marking schemes

Candidates were able 10 recall basic busi
scenarios. Some candidates gave answers which seemed to mirror
o the requirements of the current question and case.

for similar questions in past papers without paying attention b
Candidates are advised to read case scenarios and questions carefully and make sure their answers relate to the
related to the business world.

given cases. They should also pay attention to news and current issues
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Performancé in General

o be debited and credi

- 1ates indicated the accounts €0 52 o SRl

dates ¢ of a debit note I transaction (iv) ag ’St)l:m tigy
8 i §

i
atisfactory. Most &0 o
s treated the 155 . y
(i) to (i) ’ ughotc:rn)' ked transaction (v) as being persoqal in nature and wropg,, "™arg
ome candidates m. Some candidates failed to identify the books of oriy-re°°’d e:
Bing] ¢
iy

| expense Of the 11

jtasarentd nse
for transactions (i), (iv) and (V)

Good. Most candidates used 3 statement for{n to calculate thg cqst °_fthe —

many wrongly included repair cost for accidental damage during installatiog and/.or ;‘;Vever’
fee in the computation. i

he depreciation expense for 2019, Ho,
account names, such as depreciatiop eWever, gy
the entries in the accounts Xpense ang

ates correctly calculated t

k in using the appropriate

Fair. Many candid
ceivable, as descriptions for

were generally wea
insurance compensation re

to calculate the weighted average cost of the closing ;
out the units in the inventory. Some of them Wrg Invent,
purchase costas the basis for the closing inventg ongly yse
ly adjust the value of the closing inventory for gl’:al;uation_
000ete

Fair. Many candidates failed
though they were able to work
nventory average cost of

opening i
didates failed to correct

Most can
units.

Good. Most candidates correctly calculated the sales, opening inventory and
sales at the weighted average cost, whilzucr)‘t::::sr:svggwes, :
Ongly

However, some wrongly valued
treated the obsolete products as abnormal inventory loss.

es failed to state that inventories should be valu

( led t ed at t

net realisable value, which is the usual practice in inventory valuatior:] esl(;wer of cost ang
believed that 'mventory adjustment is not required if the financial impz;ct . IPISt.akemy
However, the inventory valuation practice holds, irrespective of materiality. # el

Poor. Most candidat

Fair. Many candidates were able to a i
pply the high-low method t i
;:ompgnent and fixed component of electricity expenses, though so(:ngect:en?ne e vl
evel instead of activity level to identify the high and low pairs of ﬁg?l:e;d;tes s,
or estimation

purposes.

Satisfactory. Many candi i
: idates included all rel i
g relevant variable costs in t i
R egd t.h}e-lfeweyer, some wrongly treated rental expenses as a v:r?a;lalculatxon "
S quirement to calculate the contribution margi i -
ibution margin or contribution margin ratio as the ani e
Wer.

Fair. Many candidat
es showed the ft
1, though some candi e formula for calculating th
’ n : R eb 3
expenses) or identif;lt(}i,itevsa:iaag‘;d to distinguish variableg costsr:ra;(ne)v;&:; acrggy for th:
e com i s (e.g. ren
amount as fixed costs in the computau'c?r:) nent of electricity expenses, and included tl%c entire
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instead of the ratio stated in item (vii) of tha tpﬁim

Poor. Many candidates were not abk o work QU T SRR DR Rt yeoiTmoN: T
manufacturing overheads absorbed per unit. Thay oo oot #he posienermont Tt
manufacturing overheads absorbed per direct tabowr b amd s Rl 1 W N W g
selling price per unit and selling expenses Per unt.

Poor. Many candidates failed to use the absarpoion NP VR R g D e
statement. They generally failed to include the chaig RRVRINNY R et e iR oD
under-absorbed fixed manufacturing overheads W the toat O g S

£
A
S
*

Poor. Many candidates did not correctly calcutite the eBRat i et proit Re 9 e R o
2020 if the company used the marginal casting siatew. Then Rt P Zeaea of Dl

manuficturing ovorhonds under both the aAbaptn SR AR E0E B PRNJURE: Neg
system, Howover, fow candidates were able t give a proper a\planmea. '

&
g

Poor. Most candidates did not state the detlinition uf the matthing Daroap, Rt 1 e pranie

an explunation for the applivation of the DOnEt Bl Bre ARIIPIRIK DI DR
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Section C

Question
Number

Popularity

Performance in Geneml\

8 (A (a

(®)

(®)

94 @

(®)

B) (©

(@

65%

35%

Poor. Many candidates failed to find out thm
trade receivables account, and did not calculate the co"_ectedlt Saleg g,
from the cash account, which resulted in wrong inventg, Cash Saleg :m the
Some candidates were not able to calculate either the'| OSse beingm."‘lnt
equipment or the depreciation expenses for the year, 058 on dispof'a‘l’en,
of
Fair. Some candidates failed to prepare the statement of finan;
proper format. Many candidates gave incorrect amoy <

R s Y theon NS for ooitioniy
depreciation, insurance compensation receivable ang begina.ccumula“:
Ning
balance. g Capig

Poor. Some candidates failed to state transactions that woy]q ine
or bank balances of a business without affecting its net proﬁte © the cagh
incorrectly gave transactions that would reduce cash or bank l; While
repayment of bank loan. alanceg

Poor. Many candidates failed to follow the requirement of the .
prepare a statement to calculate the bank account balance, s(,meques‘lon to
treated the credit balance on the bank statement as a bank
failed to distinguish between unpresented cheque, stale cheq
cheque.

Overdrafy,
ue and Pos‘_dates

Fair. Most candidates failed to calculate the closing balance o
for doubtful accounts account correctly as they ignored the e
affect the trade receivables account balance. As the company
the closing entries, the correcting entries should not be made
loss account.

f the allowan

TTOrS that Would
had not Prepareg
to the Profit ang

Poor. Many candidates failed to calculate the total cost of purchase of mager:
M accurately since they ignored the 10% discount for the quantity purche
in excess of 400 kg. ased

Poor. Many candidates failed to calculate the total relevant cost and tota]
material cost of Material M for the special order accurately since they dig not
consider the scrap value or the average cost of the idle inventory of material
M in their calculations.

General comments and suggestions

Candidates are reminded to read the questions carefully and present their answers legibly, neatly and clearly.
Appropriate account names should be used to describe entries in the accounts and answers should be presented in
accordance with the requirements of the questions. Abbreviations are not accepted in accounting entries.
Candidates should show workings in their answers so that they can get some step marks even if the final answer

is wrong.
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(Busheess Management Modute)

Performance in General

Fair. Most cap{lidates suggested three bases of market segmentation. However, some gave
only the definition of the bases without applying the market segmentation bases to the newly-
established cake shop.

Poor. Many candidates were able to state that a gearing ratio measures the ability of a business
to meet its long-term liabilities, but most failed to further explain that the ratio means the
proportion of long-term borrowed funds to the total equity of a business.

Poor. Most candidates failed to explain two advantages of using equity financing over debt
financing. They wrongly gave ‘lower cost’ as their answer. '

Poor. Most candidates were not able to describe clearly the steps in the performance appraisal
process with suitable examples, and omitted the step of conducting appraisal interviews.
Some only explained the factors affecting the promotion decision.

Satisfactory. Most candidates were able to calculate the payback period.

Fair. Most candidates gave the name of the capital investment appraisal method that also uses
net cash flows for the evaluation of projects. However, many did not explain the methods

accurately.

Poor. Some candidates pointed out that the business has to show the competitive advantages
of its products. However, most mixed up the concept of market positioning and competitive

position,
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enhance Custo

Poor. Most
Jevel. Som
with the re-ord

Poor. Many

progl'aﬂlmﬁ

mentioning

‘effectiveness’.

Fair. Mt s
sychological factors affectiy

enhance custo
mer loyalty-

candidates did not
e candidates mention
er level.

candidates g2
would help the A
which are not specific to

Satisfactory. Many
did not correct it to

Poor. Many candidates stated

the relevant componen
wrongly answered

Fair. Many candidates
state what information s
appropriate marketing strategy.

Poor. Many gandidates did not expl
compared with on-the-job training. Some wrongly answered from the perspectives of ‘cost’ and

to improve their performance.

W“.ncc in GO
strateglos: with relevant examples, Ho\
to deal with the risk of op:r'::;or,
n

nanagement
sk1 nsfor a8 the strategy

vation as the
some mixed up the social-gy l§u the
ral

f. Howeven

membership scheme as ways |
0

database and
how the suggested ways coulg

of the factors affecting the re-org,
)

erstanding :
r but did not explain its relationship

have a good und
ed ‘safEty stock’ as the facto

ve corientaﬁon’ as the intemal Communication programme Which
the working environment. However, others mentioneg

pew waiters t0 adapt to :
new staff, such as staff meetings,

candidates calculated the trade payables turnover correctly, although so
two decimal places. me

ways of improving the cash position of Sum Kee with
s of working capital as required in the question So(x):t
- Some

from the perspective of cash management principles.

orrect data collection methods. However, some did not clear]
Y

stated the ¢
m retailers to help Sum Kee to formulate an

hould be gathered fro

ain the reasons for Sum Kee to adopt off-the-job training as
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Question
Number

Popularity

Performance in General
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7 ()

(®)

(b)

25%

15%

Fair. Many candidates had a good knowledge of marketing mix strategies and
proposed appropriate strategies for the maturity stage of the product life cycle.
Explanation was generally clear and relevant to selling toys. However, some
candidates failed to cover all the elements of the marketing mix and did not
suggest appropriate strategies for the toy company.

Poor. Some candidates suggested feasible ways to deal with the unfavourable
material variance and labour variance. However, many failed to provide a
detailed explanation or appropriate suggestions. In addition, some candidates
misinterpreted the meaning of budget variance and wrongly answered the
que?tion by explaining the ways to maintain consistency in production and
quality.

Satisfactory. Most candidates demonstrated their knowledge of Maslow’s
Hierarchy of Needs Theory. They suggested and clearly explained ways to reduce
the staff turnover rate of the hair salon. However, some candidates were not able
to explain ways which were relevant to the situation of a hair salon, or failed to
explain all five levels of need.

Poor. Some candidates demonstrated a good knowledge of service characteristics
and proposed ways to improve the service quality of the hair salon. However,
many candidates confused the different service characteristics, e.g. perishability
and inseparability. Some suggested inappropriate ways to improve the service
quality, e.g. setting up a better waiting area, while others did not make reference
to the service characteristics.

General comments and suggestions

Candidates tended to rely on memorisation and repeated general points provided by textbooks and past papers in
their answers. They should read the questions carefully and try to understand the intended meaning and
requirements of the questions and apply the knowledge and concepts to the specific contexts,





